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12.

13.

14,

15

Ax

How many Dynes are there in 1 gram
waight 7
(A} 200
(B} 375
(C) 881
(D) 280

Modem football is said (o have
evolved from

(A) England
(B) India
(C) France
(D) Spain

Shaury® Chakra made up of bronze
Is awarded lor

(A) gallantry otherwise than in the face
of the enamy

(B} mos! conspicuous bravery for
some act of self-sacrifice

(C)}  gallantry in the presence of enemy
{0} noene of the above

The theory of economic drain of
India during Eritish imperialism was
propounded by

(A) Jawsharlal Nehmu

|B) Dadabhai MNaoraji

({C) R.C.Dutt

(D) M. K. Gandhi

‘Dandia’ is a popular dance of
(A) Punjab

(B) Guparat

(C)  Tamil Nadu

(D) Maharashtra
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18,

18,
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The headquarters of Sahitya
Akademi Is at

{A)  Mumbai
(B) Chennal
(C} MNew Delhi
(D} Kolkata

Which of the following books has
been written by Vikram Sath ?

(A) My God Died Young
{B) Islamic Bomb
(C} Look Back in Anger
(D) A Suitable Boy

Aurcbinde was the author of
(A) Discovery of India

(B} Hindu View of Life

(C} Yogashastra

(D} Savitri

Mangla ofl well is located in
(&) Haryana

(B) HRajasthan
(C) Goa
(D) Assam

Which of the following is not a session
of Lok Sabha 7

{A) Budget Session
{B) Summer Session
{C)  Winter Session
(D) Monsoon Session
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22.
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ii} General Intelligence and Reasoning Ability

Reptile is to lizard as flower is lo

(A) petal
(B) stem
(C) daisy
(D) alligator

Here are some words transiated from
an artificial language.

daftafoni means advisement
imodafta means misadvise

Imelokti means misconduct

Which word could mean “statement” ?
(A) krataloni

B) Yratadafia

(C) lokiifoni

(D) daftaimo

Directions for Q. Ne. 23 and 24 : Each
guestion has an underined word followed
by four answer choices. You will choose the
word that is a necessary part of the
underined word.

23,

24

Guitar

(A} band

(B} teacher
(C} songs

(D) stnngs
Election

{A] President
(B) Votar

{C) November
(D}  MNation

Directions for Q. No. 25 to 27 : Each
problem consists of three statements. Based
on the first two statemants; the third
statement may be lrue, false, or uncertain.

25. Oat cereal has more fiber than com
cereal but less fiber than bran cersal.
Corn cereal has more fiber than rice
cereal but less fiber than wheat
careal.
Of the three kinds of cereal, rice
cereal has the least amount of fiber.

If the first two statemants are true, the
third statement is

tA] True (B) False

{C) Uncertain (D) Certain
26. Martina is sitting in the desk behind

Jerame,

Jarome |5 sitting in the desk behind

Bryant.

Bryant is sitting in the desk behind

Martina.

it the first lwo statements are true, the
third statamant is

(A) True
(C) Uncertain

(B) False
(D) Certain

27. Battery X lasts longerthan Battery Y
Battery Y doesn't last as long as
Battary Z.

Battery £ lasts longer than Battery X,

il the firs! two statements are true, the
third statemeant Is

(A} Trua
(T} Uncertain

(B) False
(D) Cerain
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- jiul | Directions for Q. No. 32 to 35 : Look
s carefully for the pattem, and then choose
a1 P which pair of numbers comes next.
57 32. 20 20 17 17 14 14 11
(&) 88 (B} 11 11
3 (C) 118 (D) 8 19
a
33 812 1114 13 16 15
(A) 14 13 (B) 18 21
{C) 1817 {0} 12.13
(L, 34. 482212162220 24
: (A) 28 32 By 28 22
28. Arrangethe.. wingina meaningful (C) 22 28 (D) a2 36
sequence : :
2. Happiriess (A) ?:U 85 {B) €0 70
4. Ambivalence (C) 80 75 (D) 85 70
4, Emts‘sy 36.  Which word does not balong with the
5 Pleasure others 7
(A) 1,4,2,53 (A)  branch (B) dir
B) 2,1,3,4,5 (C) leaf (D) root
() 9,2.5,1,4 37. DEF, DEF,, DE,F,, , D,EF,
(B} 41,325 (A) DEF, (B) D4EF,
Directions for Q. No. 30 and 31 : In each (%) " ByBaF (0) DzEF,
series, look for the degree and direction of 38, AG:IO::EK:7
change between the numbers. In other (%) LA (B) MS
words, do the numbers increase or decrease, (C) PV (D} SY
and by how much,
S ikl 38. ADE:FGJ: KNG :7?
. Look at this series : Al POR B
8,22, 8,28, 8, ... What number :;_-;:JI ROP :Dj: ?g;
should come next 7
(A) @ (B) 29 Directions for Q. No. 40 : Choose that set
(C) a2 (D) 24 of numbers from the four alternative sets, that
I8 similar fo the given sat.
31. Look at this series
1.5,2.3,3.1,3.9, ... What number T AR
should come next 7 :B‘,:: {‘:D. 59' E?;
{g] :'g (B) 4.5 (C) (60, 87.72)
c) 4. (D) 5.1 | (D) {60.69,82)
Av A0-
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28. = =1 seif #m & TRy |
1, =

2 8

3, ot

4, AR

5, #RI

(A) 24,351
B) 3,2,1,54
{C) 4.5,1.3.2
(D) 54,321

29, T =1 el o o wam |

1 e

3. Bugh

4. JeeTH

5 ¥{H

(A} 1,4,2,5,3
(B) 2,1,3,4,5
[C} 3,2,51,4
(D) 4,1,3,2.5

Em (0.5, 30 377 31) : vre wjiEen | Hen |
F W= & Aged %1 A 3 Em o o e
S | HererE =1, T 961 91 52T 8, 31

At

30, 9@ :8, 22 8,28, 8, ... A HE
FA-H B
(A) 9 (B) 29
(C) 32 (D) 34

31, IEET: 1.5,2.3,3.1,3.9, .. | et
e e 1
(A} 4.2 (B} 4.5
Gy 4.7 (D) 51
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&m (v.%. 323 35) : U = g 2w

¥ T EE A WS R |
32, 202017 17 14 14 11
(A) 88 (B) 11 11
(C} 118 (D) B8 19
g3 %12 111413 1615
(A) 14 13 (B) 18 21
{C) 18 17 (D) 12 13
34, 4.8 22 12 16 22 20 24
(A) 2B 32 (B) 28 22
(Cy 22 28 (D) 32 36
35, 10 20 256 35 40 50 55
(A) 70 65 (B) &0 70
(C) 60 75 (D) 65 70
98 FRm AT
(A) T (B) =
(C) = (D) 9=
37. DEF, DEFy, DEsFs,  DuE,F,
(A) DEF, (B) D4;EF,
(C) D.EsF (D) D.EsFs5
38 AG:I0::EK:7
(A} LH B) MS
{C) PV (D} SY
39, ADE:FGJ::KMNO:7?
(A) POR (B) PQT
{C) RQP (DY TPR

Ew (ww. 40) : 0 ™ g@n wE |91 #

HEA

40

=-11-

Ve, e weE | =T e

(6, 15, 28)

(A) (46, 58, B6)
(B) (50,58, 71)
(C) (80,87,72)
(D) (B0, 89, 82)
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41.

42,

A+

0 0 0 D =

iii) Arithmetical and Numerical Ability

A man walked diagonally across a
square lol. Approximately, what was
the parcent saved by not walking
along the edges 7

(A) 20

(B) 24

({C) 30

(D} 33

The average age ol husband, wife
and theg child 8 years ago was
27 years and thal of wife and the child
5 years ago was 20 years. The
present age of the husband Is

(A) 35 vyears
(B) 40vyears
(C) 50 vyears
(D} None of these

The least number of complete years
in which a sum of monay put out at
20% compound interest will be more
than doublad is

(A) 3

By 4
€y 5
(D} B

Latest Sarkari Jobs, Govt Exam Results,
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45.

45,
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A man standing at a point P is
watching the top of a tower, which
makes an angle of elevation of 30°
with the man's eye. The man walks
soma distance towards the tower to
watch its top and the angle of the
alevation becomes 60°. What is the
distance between the base of the
tower and the point P 7

{A) 43 units

(B) 8 uniis

iC)
(D)

12 units
Data inadequale

The smallest 3 digit prime number is
(&) 101
(BY 103
(C) 108
(D) 113

Two numbers A and B are such that
the sum of 5% of A and 4% ol B is
two-third of the sum of 6% of A and
8% of B. Find the ratio of A . B,

(A) 2:
By 1
(L) 3
(0] 4:

W b =
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jif) StEETTTiTe S U HEATe gt
44, vE = P fEg waEm o s T

(5 S 1R I TR U = v S|
2 | TH o 35wy T wfaee =t
% Fomt @ Te | e e w7
(A} 20
(B) 24

(C} 30

(D} 33

9 74 qga i, 9o 3N 39 = A
afterd I 2 ot oft aed ST T
aiter e 5 =) ueel 20 7 off | O =
FAAH IR

(A} 3594

(B8) 4074

(C) S0a§

(D) SAHH=E A

20% =rFafg = 5 8 v U T 3
(A) 3
B8) 4
(G} 5
(U] 6
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435908

Bz

12§57

AT A

(A
(B)
(C)
(D)

R[N 3 STRTETET ST e @

(A)
(B)

1
103
(C) 108

(D} 113

A 3 B U] HE TR A T 5% #in
B T 4% 9IS A F1 6% 31 BF1 8%
FEEF A-fEE R | A B TE
e Ehtfan |

(8 2:3

B) 1.1

iC) 3:4

(0) 4:3
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47, How many 3-digit numbers can be

48,

formed from the digits 2.3, 5, 6, 7 and
&, which are divisible by 5 and none
of tha digits is repeated 7

{A) 5

(B)y 10

(Cy 15

(D) 20

Two pipes A and B together can fill
cistern in 4 hours, Had they been
opeMed separately, then B would
hava taken & hours more than A to fill
the cistern. How much time will be

taken by A tofill the cistern separataly 7

(A} 1 hour

(B) 2hour
(C) & hour
(D) 8 hour

in a lottery, there are 10 prizes and
25 blanks. A lottery is drawn at
randam. What is the probability of
getting a prize ?

(A} 1410

(B) 2/5

(Cy 27

(D} &7

Latest Sarkari Jobs, Govt Exam Results,
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51.

52,

The sum of the present ages of a
father and his son is 60 years. Six
years ago, father's aga was five fimes
the age of the son, After 8 vears, son's
age will be

(A} 12years

{B) 14 years

{C) 18years

(D} 20 years

The product of two numbers is 2028
and thair H.C.F. is 13. The number of
such pairs s

(A) 1

B) 2

2

(D} 4

A number consists of two digits, If the
digits interchangs places and tha new
number is added to the original
number, then the resulting number
will be divisible by

{4y 3

By 5

{C) 9

(D) 11
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47. 2,3, 5, 6,730 9 3= & et 3 - 500,
WEE HE W s A S5 E
ureft T & 3 ot 3 S
T = §
- (A) 5
(B) 10
| (C) 15
(D) 20

48, AsNB iwEow TR RS ageH

W © | 4R S 3 | e %
Tl 25 WA H A THY H B TEY 6 =5
AT T & | T8 71 w4 & few aem
# A Y TR A T wm ¢
(A) 15
(B) 2%
1 (C) &%=
(D) BED 52

49, UF EEETH 10T £ 3 25 el e
P | o A A & e

? |3 B o g Bedr e v

(A} 1/10

(B) 2/5 i

€y 217

o) &7 I
Ax -15-
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i & 30% 92 % w69 Im w1 9
BOHTE & | 6 T Tee Frar o 3 42
FI IR AT TR | 6FE wE AL F
I TR BN
(A) 128E
(B) 148
{C) 18T

(D) 208™

=1 HEn s w1 s 2028 § 3 T
THHTE 13 8 | 1E Sfegi i oen @
(A) 1
(B) 2
(C) 3
(D) 4

THEEENH A AF § | TR sl E =
EEclED B e o R
HIE 1 THETa FE E @ S| Jen
T fervirafta &) ot 2

(A 3

(B) 5

(C) @

(D) 11
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53, Twaotrains, each 100 m long, moving

DT O A ..

57. Thesguare root 5)(7—3./5)i
in opposite directions, cross each o7 +345)(7-35)is
other in 8 seconds. If one is moving (A) 5
twice as fast the other, then the speed (B) 2
of the faster train is (C) 4
(A) 30 km/hr (D) 35
(B} 45 km/hr
(C) B0 km/hr 58. The ratio between the speeds of twio
(D) 75 kmi'hr trains is 7 : 8. If the second train runs

400 km in 4 hours, than the spead of
the first train |
o4, A man buys a cycle for Rs. 1,400 and A Lk
sells It at a loss of 15%, What is tha (A} 70kmihr
selling price of the cycie? {B) 75 kmdhr
(A} Rs, 1,080 {C) B4 kmdhr
(B} Rs.1.160 (D) 87.5kmihr
(C) Ms. 1,180
(D) Rs.1.202 59. A can do a piece of work in 4 hours:
B and C together can do it in3 hours,
o : while A and C together can do It in
55. I::I.TE; .11{ 1157 8, then x is-equal to 2 hours. How long will B alona take
l:E!:I .EE todon?
1.
:C; 195 {A) B hours
(D) 1.30 {B) 10 hours
{C) 12 hours
0y 24h
56. A sum of As. 725 is lent in the 8 hoses
h'fgmmng ﬂ;; year al ?;h cerain rate 60. A metallic shast is of rectangular
of interast. After 8 months, a sum of shape with dimensions 48 m x 36 m.
R=. 362.50 more is lent but at the rate e e ol e P J
twice the former. At the end of the 5 A MUED S
year, Ais. 33.50 is sarmed as interest Gul olf so as fo make an open box, If
from both the loans, What was the the length of the square is B.m, the
original rate of interest 7 volume of the bex (In m?) is
(A) 3.6% (A) 4830
(B) 4.5% (B) 5120
i) = (€) 6420
(0} Monaof these (D} 8980
A
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53. 100 et o & 2@ 27 fawg R d [EY(7-1.[E
T 1 e P el ol
ﬂﬁmﬁﬁ,:{ﬂ}#{ﬁm#ﬁ%ﬂi (B) 2
sftmaw = Fiafa 2 ©) 4
(A) sofst, /g (D} 35
(B) 45 %1, /9= o
- (€) 60, /5 BB, SR 61 TR W g 7 < 58I W
) 75l fin qw:;?-mzm-;mﬁ;ﬁ.ﬁ“m?ﬁ#ﬁ
| yeelt 29 F1nfi 2
54. T = UF TR 1,400 . 6 witE (A) 70 fam
BRI 15% MR HAaa R | 39 HEE (B) 75 /9
#1 FFg-gawnd (C) safesf. a=
(A) 1,080%, (D) 87.6%F .
8 1160% ¥ .
) 1,190 %, B TRE TANGT wTh; B AN G
(D) 1,202 %. FF"“??._”“?-“W’*”W”""
M2 HFAE | B3 w0 HE
55. AR0.75:%::5:8 37, xFHEAR e e w
(A) 1.12 Ay 8w
B) 1.2 (B) 1092
‘g’ 1 () 12%
F (D} 1.30 o) S
56, FWFITATvS T @ 7os s e
RIEE LTS T e P R L SR |
i 362.50 7 S A TR 4871, x 36 1. ® | WH W FH A 0F &
A B |7 F nfer = v A ﬁmﬁm@m%ﬁﬂﬁﬁ—mm
A1 ST T 33,50 %, wEr e | g T:ajgj ;:ff_m;ﬁﬁméaﬁ ;
i 3 e [ HIL I;':| BITT |
(A) 3.8% il
(B) 45% g Ea
(C) 5% (C} 6420
D) FHAFE IH (D) 8280
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Iv) Test of Language : Hindi
wren wter ; fe=
Fresfeafiam wel & 3o e forfesd 68. ‘T: + 3w’ i wh v
(A) Tl (B) TR
61. mﬁﬁﬁm&ﬁaﬂﬁtﬂ:t? () H;r.gfﬁ[ (D) R;R:fﬁ;ﬁ
(A) el (B} wiifers ,
(C) wiiee D) it for¥y 69 - 70 : 9fF & W & TEEE H |
I ] EQ- i‘f+ﬁ=7ﬂﬁiﬁ
82, ;ﬁﬂﬁmﬂqﬂm? e (A) = G (B) !:rwgg
D
. e o (C) AhsaM™ (D) =M
o 70, WET + MY = WY
(A) 9E 4 (B) =0 (c) Trgm (D) Tm =
(C) Wl (D) ==
2 71. e | EH wEE FA |
g4, Torm mez & vw 8 il sd W (A] =W (B) w9 W2
(A) T (B) Toeree (C) TRHAEE (D) =
2 (D), e 72, WA IH qar A EA R 198
g5, Fezwiwaaw ﬁﬁﬁ?r'ﬂﬂa__arﬁ'ﬁi | 8 3T
(&) e (B) Wi ﬂhﬂ&ﬁ?ﬁmm ____TT
B e T FA] £, S wE e e
(C) (D) AT 2 1 et TR T
66. I3 =i ST E | = e =t @
A) & e PR S | (A) EQ:T:
(8) TR R S | {‘g; b i
(C) TR TEAT F1 grER A | oy R
(D) B farw & e W S
(A) TER A (A} T T T
(B} HEETEE A (B) ==l weEE faad
(C) g g (C) ﬁ!‘IEI'hEﬁTI'{
(D) e = . (D) TTES HTFEEA
A= 18-
yil e b e e | Know More |
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74, ‘EEA e RA-EHAEE T

(A} TEHE (B) w=wEmME
(C) (D) &=

75, ‘#E TEHIOEAETE
(A) wIE (B) FR
(C) Fafaet (D) =2

i3 76 - 80 ; sfE

Freiferfion o #1 SIS T8 S0 36
et W o I fe A - e A T
sl oft 31 3t s e i 2, Ss wmE F
s E i e wm w fema | e e T
o1 7R A9 R w0 IR O 8 R s - s
Sfe § A e d o BT #, T
TR T B, T ST T A T, A w0 e
v ¥ fom w v B i sl wEs B
TR v 2 F 3 vl gt A 39
FATE T HITA, TF TR F e S I
Festt a7l & 3 31 URETe foes area
T FuE & o A v R | od e
qraradt = oft @ | 23 e ot T FA9E
SEETE E o S T I, O e BEm,
AT ~ TRt AT e R | 37 T8 wrms|
=1 e 2 2, ol g | s e =
= ot faed 8, e wra-faemy = o e
g e | Tl 4 fordt 22 v Fe sl
#1 PrE F I3 B | 39 2 § Vi % W
A wad wR el # afi g e O = of e
s & T AT 8, T% WHaE T F 5Eh
w1 faad A Ea ®

s vy ft et e, v fae= e
1 IO IO A AR wem | A

A
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iR 1 WA feAl @ a8 syt 4
St v 2 v § Wit S A e el 9
TR ) 3 Wi § o 3 AW IR #i
=7 gt 1 == B ) e F s
Y B 7 U W T STfEe WA 5 A7
B A T EA R | TR U v & i
T A Tee 300 B B T v i =
TV H T E A R, I - T A R
Tt pfer Sty & wot s -t e
e WET A F T

76, WEH R Em g iEEe
(A w7l = el s e AR
(B} =l = =i e T |
(C) Rl HETTES 1A E |
(D) T Fafi=ra 1§ off veat fadi 8 |

77. FEei @M ER 7
(A) = TaR =E et qyz A e
(B) ¥ =E Al s e R
(C) T e f U B £ |
(D) Hz, wad adr ;= vk

qraTd TREA EETE |
76, R R 7 2 e e R TR R
(A) TETAH (B) wTTH
(c) il wEE (D) F=mi#
79. v R T R
(A) wm (B) "=
(C} 97 (B) [

() whE T () W EE AR
(C) M (D) WS

1§
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v) Test of Language : English
T ST ¢ ST
81. Change the Passive : He is said to | Directions for Q. No. 86 and 87 : Complete
be vary rich. tha statement,
&) He said he Is very rich.
(A) &4 B6. “Anand stuck up a friendship with

82,

{B) People say ha is very rich.
(C) He said it is very rich.,
(D) People say it is very rich.

Select the pair which has the same
relationship.

INDIGENT : WEALTHY

(A} angry : nch

(B) native : affluent

(&) gauche : gracaeful

(D) scholarly @ enidite

ﬂirﬂclinn.afur Q. No. 83 and 84 : Choose
the word which is the exact opposile of the

given words.,
83, Fresh
(A) Faulty (B} Slugagish
(C) Disgracetful (D) Stale
84, Culpable

(A} Defendabla
(B) Blameless
(C) Careless

(D} Irresponsible

Direct/Indirect speach : He said to his
father, “Pleasa increase my pocket-
rmoney.”

(A) He told his father, "Please
increass the pocket-monay”™.

He pleaded his father to please
increase my pockat money.

He réquested his father to increase
hig pecket-monay,

He asked his father to increase his

(B}
(C)

(D)

pocket-mongy

Latest Sarkari Jobs, Govt Exam Results,
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87.

Ba.

E9.

90,

Mahesh in just 2 days” means

(A) Anand friendship with Mahesh
came to an end recently

(B) Anand found out the other friends
of Mahesh

(C) Anand fixed a deal with Mahesh
in 2 days

(D) Anand became a friend of in less
than 2 years

Although, he is reputed for making

very candid statements

(A) his today speech was not fairly
audible

(B} his promises had always been
raalistic

(€} his speech was very interesting

(D) his today's statements ware very
ambiguous

Find the correctly spett word.

{A) Excessive
(C) Exxcesive

(B) Exccessive
(D} Excesive

Find the correctly spelt word.
(A}  Humorous (B) Ganerous
(C) Pupolous (D) Marstorious

To put ona’s hand to plough

(A} Totake upagncultural farming

(B) Totake a difficult task

(C)  Togetentangled into unnecessary
things

(D) Take interest in technical work




G600 0 0

Directions for Q. No. 91 and 92 : One Ward

Substitution.
best expresses the meaning of the given
291, One who possesses many talents word,
(A} Versatile (B) Mubila
(C) Exceptional (D) Gifted %, ;Mir;:‘apl.ﬂ'
in
- B 82. Words inscribed on tomb {8) Comment
(A) Epitome (B) Epistle {C) Condone
; (C) Epilogue (D) Epitaph (B} Ceonsole
33. Qrder the words ; Thay felt safer 97. HESITATED
P : to watch the mountain B\ _Stoped
(2 : of mare than five miles {[g: :::::dd
R : as they sMtied down (D) Postponsd
S : from a distance
Tha Proper sequence should be i
(&) RPSQ E:m T“SE s
(B) RSQP lEi N
(C) PQSR ©) 1o
(D) PRSQ (D) into
| Directions for Q. No. 94 and 95 Identify =1
the error. Solve as per the direction given axperts.
above (A) Resurrection
24. (A} IFyou lend him a book {9 Patmieval
(B) he will lend it to some one else (© HEEWTE“,EH
(C) and never you will get it back FRYFR RN
(D} Mo eror 100. During Diwali the shops are
of people,
#3. {A) According to the Bible (A) Busy
(B itis meek and humble (B} Full
(G} who shall inhent the earth (C} Crowded
(DY Moemror (D} Bulbbling
Ax 21-

The ruling party will have to put its

Latest Sarkari Jobs, Govt Exam Results,
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Directions for Q. No. 96 and 97 : In the
following questions choose the word which

__order,

of old paintings is a job for
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101.

102.

103.

104,

SECTION-B

000 00 0 A 0

Post Specific Subject-Related Questions

The term 'Soclology’ was coined by
(A) Herbert Spencer

(B Saint Simon

(C)
(D)

Auguste Comte
Max Wabar

In which year the term “Sociology’
was coined 7

(A) 138
(B} 1815
(C) 183s

(B) 1857

The word Sociology is made up of two
words, These are

(A
(8]
(C)
(D)

Societies and Logy
Socia and Logos
socious and Logos

societia and Logistia

Auguste Comite was of the opinion
thal Sociolegy is very near o

(A)
(B)
(€}
()

Anthropology
Biology

Peychology

Social Anthropology

Latest Sarkari Jobs, Govt Exam Results,
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105.

108.

107.

108,

Which among the following is the
youngest social science 7

{A) Histary

(B) Paolitical Science

(C) Sociology

(D) Economics

Sociology emerged in
(&)
(B)
(C)
(O}

America
Europe
Asia

Africa

These two words Socious-Logos

ware from which language 7

(A} Latinand Greek

(B} Germanand French
{C} Spanish and Greek
(D) Arabic and Persian

Which of the following comes first In
the Comte hierarchy of sciences 7

(4} Biology

(B} Physics

{(C) Sociology

(D) Mathematics
| Know More |
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T —
Oz Tt e — gt
101, =uTa-Tee e Ta = 105. =8 s gag 99 g -
K
(A) FIEE T R ?
. () elemE
(B) HZHUW
T (B) TR
(C) WTHE =L
- (C) HTAT==RI
" D Fam
= (O} e

102, wwTe - fas wres feem o gt 7 ) ,
106, STHT=E 98] The

(A) 1798 .
(A} e
(B) 1815 4 \
(C) 1838 &) |
(D) 1857 (C) wiEmm
g we (D) ==
103, FomE-Taam (s ) o 2w
SE T E |98 107. Socious-Logos 7 3t yr=2 Bm
T 9 7

(4) Socleties 371 Logy
(A) wEE R I

(B} =M 31 %4 |
(C) Secious # Logos _ 1
4 _ (C)y =i 3 i

(D) Societia 3T Logistia

(B) Socia 317 Logos

(D) 3Rfees i ofH |

104, i e =1 fgan g1 B, moms-faam e I vl |
~ 108, I F M If=ETa T
mn:agafm!ﬁ

P SR T
et PR (a) ST
(B) - By +hiFmrs
(C) e | (C) Har=EAE
(D) =nfas g - oy it
A 23
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109. Who was considered Second Father 113. Khasi tribes living in the hills of
Meghalaya ara
(A} Matrilineal

of Sociology 7

(A) Auguste Comte

(B) Harbert Spencer (B) Patrilineal
(C) Bi-lineal
(C) Max Weber
(D) Cegnatic

(D) Emile Durkheim

114, Bow and arrow ceremony prevalent

{A) Mariage (A) Todas
(B) Mamily (B) Kudabls

(C) Property {C)  Jenukuruba

(D) Association

(D) Kadars

115. Tarawad conslsts of all the

111. The Greek word ‘Patra’ mea :
; i descendants in tha

(A} Mather (A} Male line
(B) Father {B) Female line
(C) Sister {C) Both line

(D) Brothar (D) MNone of the above

. 116. Which among th
112, Marriageisa g these groups were

matrilineal 7
(A) Folkway :

(A) Kuki, Nayar, Meana, Kadar

| | E M
(B} More (B} Maga. Toda, Mesna, Khasi
(C) Social institution (C} Coorg, Khasi, Apatani, Bari
(DM  Social norm (01 Nayar, Khasi, Bant, Garo
A+ 24
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108, Fr o o e e Rl £ 7 | 113,
(A) AT
(B} -¥=E T
(C) Ha| R
(D) s iy
110, TFHY M e asie 7
(A) e
(B) wiEn
(Cy wafv 4

114.

(D) @

111, T 9152 '‘Patria’ %1 Jae §
(A) =
(By fo
(C) =

(D} i

112, e 116,
(A) AT
(B) i
(C) HTHTREE Tam
(D) TS T

As -25-
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Srerrers o Wl W e ) m
EEENGE

(A) R =T

(B) g T

(C) fa=wmm

(D) HareE

o 3 el et and) off o T 2
(A) T

(B) el

(C) S

(D) =T
ANAE T o ol e 31 2
(A) T

(B) =tam

(Cy =Fiam

(D} F =g 3

=1 T T HE O Feve # 7
(A) =R, SR, T,
(B) =M, AT, AT, wE
(C) =4, mE, umEl, 52

(D) FRR, &, 92, TR
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117. Marriage aliance between three or 121, Among Muslims ‘Shariah’ consists of
more persons is called {A) Following the way of life of the
(A) Paolyandry Prophet
(B} Trigamy (B) Following tenants of Islam
(€) Polygamy (C) Regulation pertaining to marriage,
O} Esbbsii family and inheritance
(D) Difference between ‘haram’ and
118. The word family has been derived ‘halal'
fram the word famulus' which s
125, \ o
(&) Lain 22, Among Hindus which group initiates
4 the marriage 7
(B) Greek
(A} Boy's Group
(C) Roman
(B) Gir's Group
(¥} Spanish
(C) Both Group
119, The patrilingal foint family of the () MNone of these
Mambudaris is called
123, The basis of slave system s aiways
(A)  lliam ES
(A} Political
(B} Taravad B) Ecorionic
(&) Molely {C) Custom
(D) Kureina (D) Social need
120. Family can be viewed as a 124. Barter is an exchange of
(A) Pemmanent functional instituticn (&) Service for Service
(B) A process (B) Goodsfor Goods
(C)  Anelective association (S)  ‘Senace for Boods
{0) A secondary group (D) None of the above
A 26
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117.

118.

119.

120,

A

Family ¥ T2 famulus T52 § fovn
TR R 122,
(4) M
By
(c) WH
(D) =i

fug s s & g e
FEd & 123,

(C) wwE
(D)

=T %1 76 77 = o A 124
(A)  wyrE R Hen
(B) wF wRE

(D} T T

o o A A FEAmam Fiwm | 121,
(A) @Al
(B) ~feiE
(C) =gREw
(D) wEFE®

L]

==

AHETS

7 WoE T
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YHEEHI S T A R
(A)  TEr = SiE TR T TiE AT
(B) SHEM F gl &1 e F

(C) Fam, ofEw A w5 a1
=

(D) ‘Tm 3N gene & =E W o
femgat o =t v forne 1 v
T g 7

(A) T R

(B) TR

(C) =miHgE

(D) %= H =rE =
NGIREIR LIS R Gl

(&) TrHTES

(B) amie

(C) W

(D) HIEE HTETE

S 2 e arae - 8
(A} HETE AU EE
(B) THFFmag
(C) @ fomaa

Dy FE =R
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125, Which among the following is not a 129. Dr. M. N. Srinivas gave the concapt of

property 7 (A) Weslernization

(A) Land (B) Sanskritization

(B) House (C] Modernization

D) All the above
(CY Currency )
(D) Air 130. ITDP stands for

(A) Integrated Tribal Development
126. Grouped villages are called as
Programme

(A} Dispersed villages (B) Integrated Tribal Development

(B} Line villages Progress

(C) Round villages (C) International Tribal Development
LY

(D) None of the above Process

(D} Indian Tribal Development Plan
127.  Any settlement with less than 5000

population Is oalled 131. The Ce-operative Socleties Act was
passed in

(A) Rural
(A) 1915

(B} Urban
(B) 1912

{C) Tribal

:I (C) 1820
(DY Rural-Urban (D) 1945
128. Whichs the primary occupation o 132. Non-Credit Co-operative Societies

rural pecple 7 oensist of

(A} Agncullure {A) Weaving

(B) Carpentry (B} Barbearing

(Cy Potmaking {C) Tanning

(D) Basket making l (DY Consumer
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125, Froer o A s oo A @ 7
(A) =HE
\B) WM
(C) T=
(D) =
126, e nlE) F FEd B
(A) Tt e
(8) Hmmg
(S T

(D) F9i=FE

127. 5000 FTHE & Foare i =
HEN
(A) TITHT
(B) THE
(C) FIaFE
(D) THm-T

128. Tty S ST U suEEE 7
(A) Ff
(B) Wl

(C) aq =T

(D) EERIT =AM
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=1, T, UE. S | e g
(A) iR

(B) wephww

(C) HAmgFefEFm

(D) Ffigd

ITDP %7 Tefea &

(A) TEOZE Tae ST S
(B) %2023 ZRA e Giiw

(C) AT ZrEae] Bae[yEve uTim
(D) sfem am Eaemive

Hewn 99 B = 51 51 i
(Crigy

(A} 1915
B 1912
(C) 1820

(D) 1945

T e @ A A
(A) T

(B) &3 &

(C) =wEr

(D) S99
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133, The word ‘Caste’ has been derived 137. Which among the following is a

from which language 7 caste 7

(A) Gresk {A] Vaishya

(B) Latin (B) Gond

{C) Spanish (C) Yadava

(D) Portuguese (0) Billa

134. The primary reason for social 138. Certain caste are called twice-bom,

- - I l -
stratification as they alone were anlitfled to

undergo the ceramony of
(A) Economic disparity v '

(A) Sanskara
(B) Social inequality
(B) Upanayana

() &ychﬂlnglcal salfl expression
(C) Agrahanam

(D) Show of prosperity D) Norms

135. When aclass is some what extremet
4 139. Which part of the Rigveda has given

ditary, it 1= called
LR, 6.8 only four castes called Vama 7

VAL Ghan (A) Purushsukta

€ Gasto (B) Srul

(C) Clergy (C) Vaisaka

(B) Kinship (D) Mimamsa

136. In the context of 'Varna Dharma’ 140, The idea that all people have equal

Vama is signified as rights is termed as

(A} Jati (A)  Equality

(B} Culture (B) Evaluation

(C) Colour (C} Judgemeni

{0} Caste {0) Egalitarian
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133, Caste Y= F=81 WTH WATE 7 197. PodasmEfiafae?
(A) i (A) e
(B) #HA (8) iz
] C) wmEd
| ) v &) =
= i (D)
(D) gt
138. 1§ A =1 Tl w7 s & w90t
. 134, TTHTTS FAR0T 1 UE T 8 et S v e s
(A) e ferT o
(B) HTIE SAHEHA] N TR
(C) s = sl @
Y (C) e
(D) AT = B
(D) =

' 135. o vl e 9= SI0gW Bl T, i o
139, F4= & RO 9 O e 9w St

BEWES &1, Tz ovl #e0 B, Srea o & 7
(A} He () e
- ®) = ® o
(C} gl (C} T
I (D) feedandt (D} e
36, ‘il FEidaiaad dmd | 140 AR EER A 2 R
. e
(A) =TH N
(B) wepie I EHET
(= 2 (cy T
(D) (D) FEAEE
Ar 31
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141. Village Panchayat consists of 145, Which among the following stales
Commitlees has the largest population 7
(A} 3 (A} Madhya Pradesh
By § (B} Uttar Pradesh
(C) B (C) Andhra Pradesh
(D) 8 (D) West Bengal

142, Modem Society is governed by 145, A child. is considersd to.be. a baby

atwaan th a
{A) Convention and tradition 9 B A0
(A} 1-—5years
(B) Rule of law
(B} 1-6years
{C) Diving law
(C} 1-3years

(D) %Physical force applied by police
(D} 1 -7 vyears |

143, The fundamental characlenstics ol an
147. Accordirg to the 1981 census, India’s

industrial sociely is :
population was

(A) Break up of joint family (A) 650 million

(B) Lack of faith in redigion

(B} 844 million
{C) Mechanised means of production (€} 1000 million
{0) Emancipation of women (D} Mone of the above
144. Male-Female ratio i.e., sex ratio in 148. The scheduled castes in India provide
India since 1901 has been an example of 2
{A} Decreased (A} Formal group
(B} Stagnant (B) Relarence group
{C}  Indreased (C) Social group
(0} MNone of the above (D) Secondary group
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(€) =ifde
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T 1801 ®
(A) FHENR
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145.

146,

147

148:
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rovided in relation to their
i * (A) System of social interaction

{A) Social backwardness
(B} Gathering of peaple
{ (B) Economic backwardness
i0). Law tval pesttion (C) Organisation of people for purpose

(D) Population (D) Association of people

150. Which of the following type of 154. Peergroup asoftenofa
society shows the total absence of (&) Simitar age

bureaucracy 7 i _
(B} Similar height

(A) Jribal

N {C} Similar race and colour

© Industrial (D) Similar culture

(D} Mone of the above 155. Culture has two essential fualities.
151, Society emerges oul of They-are

(A) Communily's existence (A} Learned and forgotten

(B) Men's gxistence {8} Shared and communicated

(C) Problem’s existence (C) Transmittad and shared

(D} Relationship
(D) Learmmed and sharad

152. The first stage of human societly was
156. Anormisa
that of

(A} Agriculture (A) Specific guide to aclion

(Bl Pastoralist (B} Culture of society

(C} Hunting and food gathering (CY Guideline for socialization

(D) Cottage industries | (D} Guideling for social interaction
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AT AR A e

(a) s i e gaf
(B) VT AWEE

(C) 3ewa % Term =i =1 e
(D) wm
T HHE B

(A) HHTH I T

(B) FHE FHar arl

(C) THF S 31 TTEE] #
(D) FET HEp i el
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(A) SRR AT S S W
(B) =fe s g ]

(C) WA T S A

(D) ST T S e

W &1 8
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() T FHEE
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(D) T T T =
EEvinEe|
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1a7.

158,

1548.

160.

The prestige of social position may
change in

(A) Status
(B)

(<)

In times

Never

(D} Society

The process of learning that lakes
place in a group siuation 1s called

(A) Socialization
(B) CHhurIsaIJEm
(C} Routinisation

(0}  Acculturation

To prepare one for [uture roles is
(A}  Fulurisation
(B)

|G}

Fraediction

Anticipatory socialisation

(0} Internalisation

In common sensa the term ‘Society’
5 equivalent to
(&) Boundares

(B) Organisation

() Group

(¥  Imbalancs

161

163

164.
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162.

Roles and statuses are often most
(A) Conflicting
(B)
(C)

(0}

Unconnected
Complementary

Contradictory

For 'Coglay’ the main primary group is
(A)
()
(C)
(D)

Family
School
Wark group
Play group

The concept of Bureaucratic
personality 15 propoundad by
(&) Auguste Comis
(B)
(C)

(B2

M. Weber
H. K. Merton

Fard Marx

Society is organisation of individuals
as well as orgamsation of activities.
This statement is

(A} Trua

(B} Partially true

(Y Falss

(D)

Mane of the above
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165. The concept of corporate group is 169, Social organisafion means
propounded by

(A} Planned activities
(A} Henry Maine

(B) Herbert Blumar (B) Organised activities

(C) Maclver (C) Cultured activities

(D) Herben Spencer (D) Defined activities

. '
166. Accommodation is essentially a RE T T rm——

process of
(A) Adjustment (A) Dominant and non-dominani
(B) Cooperation (B} Posilive and negative

(©) Group formation (C) Selfand others

D) Compeatition
) B (D} Ouwrand thair

167. Which book is considered to be the

‘Bible af Sociclogy' ? 171. Cusloms are also called

(A} Mind and Society (A} Cullure
{B) Folkways (B) Valus
C) Sociological Tradition
e 9 (G} Folkways
(D) Masters of Sociclogy

{0} Maores

168. The primary civilization of India is

divided into 172. Arrangement of person indicates
(4) Litthe traditicn and great tradition (A} Culture
{B) Small tradition and big tradition

(B} Group

(01 Educated tradition and
. (o Posttion
uneducated tradition 2 Bl
(D) Rural tradition and caste tradition (D) Folkways

A"f 8-
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i 166, HHII 48 dvaa: TOE! WiE 170. 2w w2 .
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173. Face to face associalion and
cooparation is more possible in the
(A} Transitory group
(B} Primary group
(C) Basic group

(D) Secondary group

174. A good illustration of social group is
(A) Family
(B} 4 crowdin a street
(C) A market

(D) People in a theater

176, Musicians are atan
{A) Aggregale
(B) Group
{C) Ciass

(D)  Mone of the above

176. Which among the following is not an

example of institution ?

(A} Family
(B) Marriage
(C} Kinship

(O} Pesargmup
A

177,

178.

179,

180,
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Tnbal culture is attached to

(A) Land, nature and rituais

(B) Fuolk tradition

(C) Their economy and customs ,

(D} Religion only

The term ‘White Collar Crime’' was
first used by

(A) E. Sutherland

(B} C.W. Mills

{C) Parsons

(D) Roucek

The most imporant reason for which

man needs society is thal he/sha

(A} wants to live in the world

(B} needs it both for the sake of lile as
well as good life

(C}  wants to become an ideal citizen

(D) feels that society is a super power

s a systam of

relationship between cells,

(4) Group
{B) Society
{C) Organism

(D) Aggregation
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173.

174.

175.

176.
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181,

182.

184.

184.

The works of Comte Stems from the
writing of

(A)
(B)
(C)
(D)

Hegel and Sainl Siman
Angel and Durkheim
Hobbes and Locke

None of tha above

Synthetic or ganeral school of
sociology Is headad by

(A}  Auguste Comie

(B} Emile Durkheim
(C) ‘Herben Spencer

(DY W, Pareto

Herberl Spencer has derived his

evolutionary scheme from the work of
1A
(B)
{C)
Y

Darwin
Keplar
Mendel

Harvay

At the time of French Revoluticn who
was the King of France 7

(A
(B)
(C)

Louts XVI
Louwes £V

Edward |!]

(0y Czar X

185

186.

187.

188.
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Who amaong the following had divided
sociology into two major parts, namaly
siatic and dynamic sociology 7

(A) Comte

(B} Max Weber

<)
(D)

Karl Marx

Rudalph

Indolegy, maans
(A)
(B)
(C)
(D)

Detailed descnption about India
A branch of archaeology
Study of India and its cultura

Study of Indian history

Marx considers conflict as

(A) something pathological and
harmiul

(B} the engine of progress

(C) asan uncreative force

(D} away ol life

Who considers poverty as a result of

explotation and not of scarcity 7

(AY Karl Mamx

iB) Weber

-
'."".I

Hobrouse

(0} Rose
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1839.

180,

1821,

192,

Whose monumental work s The Giit 7
(A) Mauss

(B) Malinowski

(C} M. N. Srinivas

(D) Frazer

The sociclogical method of Durkheim

exists firmly on the expenence of

(A) Biglogy
{B) Physics
A

(C)  Astronomy

(D) History

Relations of production constifute

relationships batwean
(A4) Things and things
(B) People and things
{C) People and people

(D) Factory and workar

Sociometry 18 associated with the

name of

(a) | L Maoreno
(B P.V.Young
(C)] Good and Hatt

(D} Morgan

183.

194.

185,

196.
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The term ‘respondent’ is used in
(A} Social survey research

(B) Stafistics

(C) Psychology

(D} Interactionism

The social distance method is
developed by

|A) Bogardus

(B} Hege!

() Kant

(09 Liker

A group Involves some degree of
among its members for the attainmeant

of common goals.
(&) Cooparation
(B} Conflict

(C) Association

(D) Competition

Play groups are often of a
(A) Similar age

{B) Similar height

{C) Similar culture

(D) Moneof theza
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197, All members of society occupy a

198.

Ax

number of social positions known as

(A)
(B)
(C)
(0

The family is the central institute of

Mati
(A) E on

(B)

Hole
Prestige
Position

Status

Word

(C) Country

(2]

Mone of the above

199.

200.

-6
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Which are the three pillars of society 7

(A) Family, Caste system and Village
Community

(B) Association, Class, Group

(C) Institution, Urban Society, Tribal
Society

(D) State, Class and Community

Explain LAMPS

(A} Large Area Multi-Purpose
Societies

(B) Long Area Multi-Purpose Society

(C) Lengthiest Area Multi-Purpose
State

(D} MNone of the above
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